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For an ox is — 1332 33 PRY 7 PRIPMT 905 12 277 VY
liable for unfit sacrifices; which is not the case by =12

Overview

"wX 27 asked that the Xn>72 could have mentioned an additional X717 of MW
over M3; that if a MW killed a PwIpwan *700 MW, the MW va is 2»m;
however if a PwIPIM7 *700 MW fell into a M2 and was killed, the 127 Hv2 is
7wa. Our MdOIN will explain why we cannot derive the 7122 7% 7W5 from
the same source that we derive the 7109 of 7122 PWIPIAT 22100 MW

mooin informs us of the source that M2 is MWD by a PWIPAA 2100 MW

— 9% NNAY 3 99 75N NP S)PUATTS
As we derive from the 00 of ¥ 7575 nam that the obligation of the %va
1127 to pay, is limited to cases where the carcass belongs to him*; however

by a PwWIPMI *2109 MW, where the carcass must be buried and one cannot derive benefit
from it, this is not considered 2w n»aw >»n and the 127 Hv2 is Mws.

nooIn asks:
—9Y HNNY I 7PN NN DY PIN DR KDY NIV D N1Y 9NN ON)Y

And if you will say; why is the 712°% of 278 K91 "1 necessary to teach us
that the ™2n Hv2 is My if a person was killed in the 112? It can be derived
from % 77977° n»my; that the 127 Hva is liable only when the dead body
belongs to him (to the pr1). 712 should be o782 7Wo -
— PYTIINN ST NV 11097
Just as we exempt 112 from PRTPIAT 9905 MY since the pri cannot derive any
benefit from the 77°23, similarly if a person was killed, the 271 2 should be Mws —
— NN YYON NNT
Since it is prohibited to derive any benefit from a dead body -
— (2,03 7) P10V PPN P92 NDNIY NDIYN DY OV NIY N9 )WY
As we derive this through a @' of the word aw which is written by nn»»
™, from the word aw which is written by an 62D1y m9ap, that just as an
9 793V is ARITA 7oK (for it is considered o°w7p) similarly the n» is also 7RI 7IOK.

The question remains why do we need the v » of 078 71 MW when we could derive the
7122 2787 MWD from 17 7 Nam?

A WP *2100 MW is a 127 which received a 01 rendering it unfit for the nar. If it is redeemed it can be
eaten; however if it dies it must be buried and cannot be used to feed it to dogs, etc. See MW 7"7>"wA.

2 R,R1 P9

3 19,80 [Dwawn] mnw.

* This is referring to the p1. The 719°21 belongs to the p1 and the °i» pays the difference between the worth
of the live animal and its carcass.

3,5 [npR] 12TR2) 0 aw nan.

6 7,0 [2°voMWw] ©27) 723 DR oW 19
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mdoIN anticipates a possible solu7tion and rejects it:
— (8,97 1297 NP 7992 1329ANTI 9N 9YYUNY OIVN IN)

And if the reason why we need the 7% of 07X X2 W is because the hair

of a nn is permitted to be used, as the X n3 states in the first P99 of o7y,
therefore on account of the permissible hair we do consider it Y2w nnaw *»; this cannot be!

For -
— (%0297 72 P9 199932 13299NTI 9N PYTPIND IIIDD NY TPV ) 9N

The hair of the PwTpan 200 M is also "nm as the X3 states in the

third a2 of N2 noon -
—5Y 19D PR YN NONR 1IPI9Y 113 951 1959N)

And nevertheless, since the main body of the PwIPMT *7100 MW is MMBR, it

is considered Y92 n»:7 PR, Similarly by a person it should also be considered nni PX
2w, so why is the T1n°% of D78 X7 MW necessary?!

n90IN answers:
— DN 119392 0¥ NI 91V SYNYN 1D 75N> NNNT 990 YN

And one can say; that the p109 of ¥ 777 nam (from where we derive that
there is a 211 by M2 only 172w nnw °n?), that P00 is discussing a damage to
a M® (the [previous] P05 states Tan W MW Pw 2911), and therefore we

cannot exclude a person from that ?105. We therefore need the 72°% of X7 W
07X to exclude 07X from 2.

mooIN proves his point that 27 cannot be excluded from 12 77 nam:
— NIX TIOMNI (3,0 1mpY) N99N P92 72997 Y19

You know that this is so, since the X721 asks in 79877 pop; ‘and I will
reverse it!"’

— DY NNAY MY WINTI NIYTID N5 DN VIS
The meaning of RXIX T19°X1 is that the Y 77 n»m that is written by =W
>>man1 should be interpreted to mean 19w namw "9 (thereby excluding a

P from paying for a WP *7M00 MW [and M2 should be 21 for a 70D MW
wIPA]). This concludes the citation of that X »3.

mooIn continues with his proof that if the 109 is discussing a MW we cannot apply the
0w ) to an QTN:
— 19V NN PRY 29 HY GN) 9995 DIYN 9IVWA XNY 29N 9139190 181 139D)

" See w"wn and "R concerning the 07871 W and the p"na0D MW WY,

¥ Seemingly Mmoo asked that the word M (from which we are o7x bymn) is superfluous. It would seem
therefore that in this answer when m»0oin states that we are discussing 7MW he may be referring to 211 (from
which we are 0°95 vynn); to the exclusion of 7% who is not stated in the P109. See "W 0"97n and 73"nK.

? The 7770 writes Y2 77 N twice, once by a (12,83 [2°vown] Maw) M@ poian M, which teaches us that
79°212 0*9ovn 0°%¥1 (the Pr3 owns the 77°21 and the P 1 pays for the difference between the live and dead
71w) and once by 112 which teaches us 2w naaw *n? (to exclude M2 from paying for a PwIRMA *2100 NW).
The X723 there asks XX 719°X1 let us reverse the two 22717,

1935 0 mam by 2 will teach us that 77212 0*houn o°5va.
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And how could the X3 attempt to say this (that the Y2 77 nnm of MW
should mean >w nnnw "n% thereby excluding things which are 7X372 70K);

but a = pays 297> (if it killed a person) and even though it is not Yo n»3
(no one may derive 1817 from the dead person)! This paying of 7912 should indicate that
the w7 of 12w nuaw » does not apply by P12 Ww; how can the X3 contemplate that

2w nanw applies to PYTan M.
— NP MYNRT MYII9TI 9912 192U N R TH99 by NON

Rather you are forced to say we are not concerned about this (that the
TWwn 9va has to pay 190) as I explained that the vy n of Yow nnanw n°

applies only to the killed 9% whom we are discussing in the P10 of 12 7 N,
and not to the 07X who is not included in that ?105. The same applies to the 12 77 nnm
that is written by 72 that we are referencing the [Mnm] 7w of the 109, but not the a7
who is not mentioned. Therefore we need the 772 of 27X X1 MW to exclude o7& from 2.

moon offers an alternate solution why we do not derive the M5 of o7X from 12 77 nm:
— TPIVNN OTN Nb) ﬂWJ‘T 295yh 15959941 IN1IY 311N NYWUP NI 991 INDI)Y

And without this (X173 in *77977 p79) there is no difficulty here at all (why
we cannot derive the 122 27X MW from Y7 77 nnmM) according to my

previous explanation that the 71°% of 278 X% 91 is necessary (not for a 12
1, for we can derive thlS from 121 1277 7Y K71 1Y nwy 7910 oR, but rather) for -
Baxina 1Y XYANT 9939 Y9Iy 5Nﬂ\’)’5 MPN 9939 1ayY

A slave and a gentlle who is owned by a Jew who fell into a pit (he
cannot be exempted on account of 127 H¥ X7 19V since there is a money
obligation not a 991> obligation and) he cannot be exempted from nnaw "n

19w, for it is permitted to derive 7N from their dead bodies. The 717 of X9 W
07X teaches us that 712 is Mwd even by an 121 72V.

Summary
The 71m°% of 12 77> ninm which teaches us 12w nanw "1 is referencing only

the (7nm) MW that is written in the 2109 but not the O7X.

Thinking it over

What is the proof' from the XX 712°X in 771577 p79? Perhaps the P05 of nnm
% 77 by M would exclude oX as well from pm%wn. This does not
contradict the 7910 21’17 by an 07X which is a separate 17 of 777193 and not a 77
of 1mown. '

' See “Thinking it over’.

2o a0 97

" See X"wammne 2" 1. That noon first answer is necessary to explain the X723 in 7797 but not for our
hmlabS

4 See nvn ¥"mn "rn whether a 121 N (and an 72v) is X172 0.

% See footnote # 11.

% See 7"nx.
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